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8. The number that is 2 more than 11 is

(1) 10 2 11
(3] 12 (4) 13 (

9. The numeral for 'twelve’ is

(1) 16 (2 14
(3 13 4) 12 (

10. 1 more than 13 is

(1) 20 2 19

8) 15 (4) 14 (
1. Wpencil I

[T

The ruler is units longer than the pencil.

(1) (2) 6

@) 7 4) 8 (
12.

The shape of the envelope is a

(1) circle (2) square
(3) rectangle (4) triangle (
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13. What comes next?

14. What is the missing number?

SIACIRIRCIARD,

(1) 6 2 7
(3) 8 4) 9

Section B: (2 marks each)

5.20-6=| |

16.

%\'%@: Snake B

0 1 2 3 4 5 6 7 8 9 10
i |
|l Snake A

Snake is longer than Snake
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18.
Bgall A Ball B Ball A Béall c

a) Ball is heavier than Ball A.

b) Ball is the heaviest.

19. Draw the diagram that comes next.

JOOOQ |

20. Write these numbers in words.

21, D and 11 make 17
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22. Write a subtraction sentence for the diagram.

o
* K XK 7

S PO S

23. Colour the first 4 apples from the right.

DOODOODO

Rubber band A is units shorter than
Rubber band B.

85, o5

J

1st

The banana is on the step.
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26. 4lessthan 20 is l:l
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27. Amanda walked 2 km to her grandmother's house and

then another 4 km to the market. How far did she walk
altogther?
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28.

If the orange weighs 15 g and the strawberry weighs 4 g,
what is their total weight?
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29. Callie has 17 doughnuts. She gives 5 away. How many
doughnuts does she have now?
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30. Sally is 19 years old. Her cousin is 3 years younger.
How old is her cousin?
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Lhoose the correct answer and write its number in the
brackets.

1. The missing numberis

AN AN

(1) 19 (2) 18

(3) 16 (4) 13 (
2. If10 + 4 = 14,then 14 — 4 =D.

(1) 15 2) 14

() 10 4) 8 (

3. The missing number is
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What comes next?

<><>OA<><> ?

o O @ <>
@ <> @ /\

@@@@@@@

face from the left is different.

(1) 2nd (2) 3rd
(8) 5th (4) 6th

6. Whichis equal to 11?

(1) 4+5 (2) 3+5

3) 6+3 (4) 5+6
7. E is 1 less than 10.

(1) 6 2 7

3) 8 (4) 9





Ghoose thecorect answer and wre s umbe n i
bracats,

o missingrumbaris

VAN N

o @
© @ " o)
2 0104 e ente -4 a [
s @
@ 10 @ s )

3. Tho mssing rumberis

o @ 2
® 3 @ s )



